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(Part-1 : i) =B 2«%

Write short answers to any SI?{ parts, d -ael_fi;t,.ﬂ Lpi;?r.;a..sf -
|m:[_21 g[,rhenfnd 3A. -é,""’lﬁ?m{_-.& 3]!" (0
Simplily: /-64 Vot £ G

T . "
Simplify:  §? +(s~}] 5% (57’ $&E A i
Find the value of x: log, 64=2 fog, 64=2 :é,':f"':é;}lx 1§19

s 10gd2 Fat log5 = 0,6990 « logd = 0.4771 ¢ log2 = 0.3010 /1 (W)
If log2 = 0.3010, log3 = 0.4771, log5 = 0.6990 then find the value of log32.

Define algebraic expression. -g.‘;.ﬂﬁo’&;jﬁ! (vid
Simplify, wﬁws}{ﬁ 3) 3 V35 -B) A Gid
Factorize: °3 'f'fya'f’ o IR >SHiL 2?33*‘\ LA (viii)
Factorize: 2y +35y-3 2y’ 4+ 5y-3 YA (i)

AoyrF Ll amgedd 3
WYz, 01y e He @)
ax 103 21x - 1.8 g IV (D)

Write short answers to any SIX parts.
Find the HCF: 39x7y*z , 91x°y°7’

Solve the inequalites: 4x =103 <21x - 1.8
Nefine strict inequalitics. -_é_‘...i_»‘/;;;&bb-_r_; b (iii)
Write the given equation in the form of y =mx + ¢ 7-3x +4y=0 :guf-dﬂn,{y =mx+c f.:-ul.fs_?’d: {iv)

F—%C . c-—u? 32y il v ared 800z i penZ ooy Eek W)

Find out for which temperature C° and F° reading will be same if = :’:-(".' +32,C= —5-(F 32)

Find the mid-point between two paints: A(3 ,~7), B(4,-2)  AG,-7), B{4,-2) 'czf'}’*iﬁr Yo nnbbea (vi)
Define coordinate geometry. A N9 A 74 (vid)

a{f;‘”.-rMJ:-Lm mcﬁ‘;l.é:r_,gk'@!? - (viii)

Find the value of unknown x and m for the gm.n congrucm tnangles
4 r-;-‘._, erwmuu,\,rfm?lm" 10 L1 R 1315 L5t RGY
If ane angle of a parallclogram is 120°. Find the measures of its remaining angles.

; : 5
Write short answers to any SIX parts, .éa.ri_.rj A LA ag:..uf A
{ oy
et mBL A mAL F5 mAB = Gom e 2 s ¥ AR 15 28 CD NS RO
—B CD is right bisector of the line segment AB. If mAB=6cm then
find the value of mAL and mBL
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Verify that 3cm, 4cm, Sem are the sides of riahgle? -.,ga;gpo’!,azwz:.:..v- Sem « dom « Jom S et G

Define ratio. o F ey (D
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[em :s‘;f(r’”:éifx (iv)
yUIL.D »' e GR [ |
' ¢=13cm«b=>5cma=1l2em -gruwc,,u-..«suyué'vimig.r_{,w (V)
Verify that a = 12cm, b=5cm, ¢ = 13cm are the sides of right angled triangle.
& Sem LA 100m 13 Sowd Sy gap e KL (Vi)
Find area of triangle whose base is 10cm and altitude is Sem.
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Find the area of paru]!eiegramZ:m ; i o e T (i)

Define orthocenter. H"‘_f..yﬂd’}"ﬁﬁ(viii)
Construct a triangle PQR: mf’@:&:m , mQR =4.5cm | mPR =5.5¢m GUTe i POR &8 (ix)
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Part - [I, Attempt any THREE questions. Each question carries 08 marks.
Question No. 9 is compulsory.

NCSUIL.PK dx-y=2;3x F3y=3 .:.‘:Ll'.t_.g{)ﬁﬁﬂg,mu A (L) L5
Solve the linear equations by Cramer’s rule: 4x y=2;3x+3y=3
n -3 Au—| n_ A% dn-1 s ]
simplity: 803 —n[z}; (243) (81)" -3 2nu)] @) .2 ()
(9" %3% (9*")(3")
b o 0.678x9.01 0.678x92.01 |, p_ e Y ()
Use log tables to find the value: 00234 50094 .,‘__,,_}'”._.uujd.g £y (i) .6
It‘x+—l-=4,1henﬁnd x3+-l—3 é{:"“uﬁ’ux - 1_,_ Frxt l-——--'-l" ()
X X X
Factorize: 25%” — 10X +1~362" 25x2 —10x+1-362" & :# (L) -7

ax' —12%0 +3Tx —42x+k Ebltd P e A2k (O
¥ind the value of k for which expression will become a perfect square:
4x* —12x° 437 - 42x + k

X _o_ =X "0 o AT PR
":ulw. the equation: T =5 X#2 &'-l., PRCHPIIN ) It

RismH ek mBC = 4.2m, msB=75° .ﬁé’.ﬁﬂLLq;}:%JWM ARC & (L)
Construct AABC and draw its angle bisector when: mAB = 3.6¢m, mBC =4.2cm, msB =75°

—a b Lol sl ::.ufﬁ,.'rl,"cf.,"ifi}—gﬁ.-;d"tﬁ*_ :IJJ/.(é.&;L"' -9
Prove that any point on the bisector of an angle is equidistant from its arms.
e ORL —e

.Ju:ul,:.ﬂé;asunzlzwgt::fgxﬁf.uﬁﬁ aﬂl;’“ o
Prove that triangles on equal bases and of equal altitudes are cqual in area.
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